### **Garland Independent School**

**GISD Sourcing Bid Tab** 

Bid#:	31954	Title: 255-18 Volleyball Uniforms and
		Equipment

	Discount
Yes	10-40%
ves	0%
ves	Discounts are based on the quantity
•	ordered, between 5-20% off
VAS	10% shipping & handling depends on
yes	quantity ordered-usually between \$40
	\$65
YES	N/A
Yes	20%
YES	List Price Less 35% on Supply items.
	List Price Less 12% on Furniture items
	0%
Yes	5%
Yes	10% Discount does not apply to Only
	From Gopher (OFG) items
VES	10% off BSN Equipment catalog
IES	
	w/exceptions.
	yes yes YES YES YES Yes Yes

Line		Award						Extended
#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
		,						
	Baden Perfection Volleyballs #VX5EC-210 or approved vendor,				AMERICA TEAM			
	Leather - red/white/blue - No subs	Yes		EA	SPORTS	45	\$39.15	\$1,761.75
					PYRAMID SCHOOL			
		No		EA	PRODUCTS	45	\$43.00	\$1,935.00
					VARSITY BRANDS			
		No		EA	HOLDINGS CO INC	45	\$44.49	\$2,002.05
		No		EA	BARCELONA SPORTING GOODS	45	\$49.93	\$2,246.85
		140			0. 0	.0	<b>4.0.00</b>	<b>V</b> 2,2 10100
	Baden Lexum Practice Volleyball VX450C-209 or approved equal –				PYRAMID SCHOOL			
	navy, orange & white	Yes		EA	PRODUCTS	18	\$24.00	\$432.00
		No		EA	AMERICA TEAM SPORTS	18	\$25.15	\$452.70
		-					•	•
		No		EA	BARCELONA SPORTING GOODS	18	\$31.98	\$575.64
	Baden Perfection Ball Hammock	NU		LA		10	ψ31.30	ψ37 3.04
	#BADENHAM or approved equal, black	Yes		EA	VARSITY BRANDS HOLDINGS CO INC	2	\$94.98	\$189.96
3	DIACK	res		LA	HOLDINGS CO INC		\$94.90	\$109.90
					PYRAMID SCHOOL			
		No		EA	PRODUCTS	2	\$145.00	\$290.00
					AMERICA TEAM			
		No		EA	SPORTS	2	\$270.00	\$540.00
					BARCELONA	_	****	
		No		EA	SPORTING GOODS	2	\$284.00	\$568.00
	Molten Volleyballs #IV58L-U or approved equal, white	Yes		EA	VARSITY BRANDS HOLDINGS CO INC	144	\$42.98	\$6,189.12
	approved equal, write	res					ψ-72-130	φο, 103.12
		N-		EA	AMERICA TEAM SPORTS	144	¢45.45	¢6 544 00
		No		EA	SFORTS	144	\$45.45	\$6,544.80
		No		EA	THE PROPHET CORP	144	\$47.01	\$6,769.44
					BARCELONA			
	T1:1 \/-11111 #0\/ <del>5\/0</del> 0	No		EA	SPORTING GOODS	144	\$48.80	\$7,027.20
	Tachikara Volleyballs #SV5WSC or approved equal,				SCHOOL SPECIALTY			
	gold/black/white	Yes		EA	INC	15	\$22.47	\$337.05
					PYRAMID SCHOOL			
		No		EA	PRODUCTS	15	\$23.40	\$351.00
					AMERICA TEAM			
		No		EA	SPORTS	15	\$26.35	\$395.25

		No	EA	VARSITY BRANDS HOLDINGS CO INC	15	\$27.26	\$408.90
		No	EA	BARCELONA SPORTING GOODS	15	\$27.56	\$413.40
		No	EA	S AND S WORLDWIDE	15	\$30.00	\$450.00
		No	EA	THE PROPHET CORP	15	\$31.53	\$472.95
6	Tachikara Volleyballs #SV5WSC or approved equal, black/royal/white	Yes	EA	SCHOOL SPECIALTY INC	20	\$22.47	\$449.40
		No	EA	PYRAMID SCHOOL PRODUCTS	20	\$23.40	\$468.00
		No	EA	AMERICA TEAM SPORTS	20	\$26.35	\$527.00
		No	EA	VARSITY BRANDS HOLDINGS CO INC	20	\$27.26	\$545.20
		No	EA	BARCELONA SPORTING GOODS	20	\$27.56	\$551.20
		No	EA	S AND S WORLDWIDE INC	20	\$30.00	\$600.00
	Tachikara Sensi-Tec Balls	No	EA	THE PROPHET CORP	20	\$31.53	\$630.60
7	#SV5WSC or approved equal, white	Yes	EA	SCHOOL SPECIALTY INC	15	\$22.47	\$337.05
		No	EA	PYRAMID SCHOOL PRODUCTS	15	\$23.40	\$351.00
		No	EA	AMERICA TEAM SPORTS	15	\$26.35	\$395.25
		No	EA	S AND S WORLDWIDE	15	\$26.95	\$404.25
		No	EA	VARSITY BRANDS HOLDINGS CO INC	15	\$27.26	\$408.90
		No	EA	BARCELONA SPORTING GOODS	15	\$27.56	\$413.40
		No	EA	THE PROPHET CORP	15	\$31.53	\$472.95
8	Tachikara Ball Cart #BC-HAM or approved equal, black	Yes	EA	SCHOOL SPECIALTY INC	1	\$73.40	\$73.40
		No	EA	PYRAMID SCHOOL PRODUCTS	1	\$86.00	\$86.00
		No	EA	VARSITY BRANDS HOLDINGS CO INC	1	\$94.98	\$94.98
		No	EA	S AND S WORLDWIDE	1	\$100.42	\$100.42
		No	EA	BARCELONA SPORTING GOODS AMERICA TEAM	1	\$101.00	\$101.00
	Tachikara Setter Ball #TB18 or	No	EA	SPORTS SCHOOL SPECIALTY	1	\$110.00	\$110.00
9	approved equal	Yes	EA	INC PYRAMID SCHOOL	1	\$24.08	\$24.08
		No	EA	PRODUCTS S AND S WORLDWIDE	1	\$24.98	\$24.98
		No	EA .	VARSITY BRANDS	1	\$28.88	\$28.88
		No	EA	BARCELONA	1	\$29.96	\$29.96
	1	No	EA	SPORTING GOODS	1	\$33.00	\$33.00

			ı		1			
		No		EA	THE PROPHET CORP	1	\$33.79	\$33.79
40	Tachikara Ball Suitcase #TV6 or				PYRAMID SCHOOL		<b>A</b>	<b>A</b>
10	approved equal, red	Yes		EA	PRODUCTS S AND S WORLDWIDE	1	\$14.00	\$14.00
		No		EA	INC	1	\$14.41	\$14.41
		No		EA	BARCELONA SPORTING GOODS	1	\$18.00	\$18.00
11	Mizuno LR6 Knee pads or approved equal, black	Yes		PR	PYRAMID SCHOOL PRODUCTS	195	\$15.30	\$2,983.50
''	арргочец ециаг, власк	res		FIX	BARCELONA	195	\$13.30	\$2,965.50
		No		PR	SPORTING GOODS	195	\$16.66	\$3,248.70
		No		PR	VARSITY BRANDS HOLDINGS CO INC	195	\$16.90	\$3,295.50
		N-		PR	AMERICA TEAM	105	¢17.75	\$2.464.25
		No		PK	SPORTS	195	\$17.75	\$3,461.25
		No		PR	TEAM LEADER	195	\$22.50	\$4,387.50
12	Mizuno VS-1 Kneepads or approved equal, black	Yes		PR	PYRAMID SCHOOL PRODUCTS	15	\$12.95	\$194.25
		No		PR	AMERICA TEAM SPORTS	15	\$15.50	\$232.50
		140			BARCELONA		<b>V.0.00</b>	
		No		PR	SPORTING GOODS	15	\$16.66	\$249.90
		No		PR	VARSITY BRANDS HOLDINGS CO INC	15	\$19.50	\$292.50
	Mizuno Low Ridder Shorts				PYRAMID SCHOOL			
13	#440015 or approved equal	Yes		PR	PRODUCTS	23	\$14.50	\$333.50
		No		PR	BARCELONA SPORTING GOODS	23	\$16.63	\$382.49
		No		PR	VARSITY BRANDS HOLDINGS CO INC	23	\$16.87	\$388.01
		N-		PR	AMERICA TEAM SPORTS	23	\$17.45	\$401.35
		No		FK	SFORTS	23	\$17.45	\$401.33
		No		PR	TEAM LEADER	23	\$24.99	\$574.77
	Mizuno Lightening 2 Day							
14	Backpacks #470170 or approved equal, grey/red with white volleyball & number inside #1-16	Yes		EA	VARSITY BRANDS HOLDINGS CO INC	16	\$51.90	\$830.40
	y sail a namber misiae #1-10	163				.0		\$650.40
		No		EA	TEAM LEADER	16	\$57.50	\$920.00
		No		EA	AMERICA TEAM SPORTS	16	\$57.75	\$924.00
		NI-			BARCELONA	46	<b>\$50.00</b>	#000 CO
	Mizuno Core Dual Hybrid Long	No		EA	SPORTING GOODS	16	\$58.00	\$928.00
	Sleeve Jersey #440581 or approved equal, Logo: NG/Red							
	with white outline /Left Chest Team Name: RAIDERS on the							
	back in Red with white outline front number: 4" back number 6"				BARCELONA			
15	in red with white outline	Yes		EA	SPORTING GOODS	16	\$42.14	\$674.24
		No		EA	AMERICA TEAM SPORTS	16	\$42.45	\$679.20
		No		EA	TEAM LEADER	16	\$44.50	\$712.00
Ь		INO	<u> </u>	LA	I LAW LLADER	10	\$44.3U	φε 12.00

		No	E	Α	VARSITY BRANDS HOLDINGS CO INC	16	\$48.51	\$776.16
	Mizuno Core Attach Short Sleeve Jersey #440559 red (1010) or							
	approved equal, Logo: NG/Red							
	with white outline left chest Team Name: RAIDERS on the back in							
	red with white outline front							
16	number: 4" back number 6'in red with white outline	Yes	F	Α	BARCELONA SPORTING GOODS	16	\$32.85	\$525.60
10	with write outline	res	_	-^	AMERICA TEAM	10	<b>\$32.03</b>	Ψ323.00
		No	E	A	SPORTS	16	\$32.95	\$527.20
		No	E	Α	TEAM LEADER	16	\$33.50	\$536.00
		No		A	VARSITY BRANDS HOLDINGS CO INC	16	\$36.50	\$584.00
	Mizuno Core Dual Hybrid Long	NU			HOLDINGS CO INC	10	\$30.50	₩304.00
	Sleeve Top Style# 440581							
	Color: Navy/Grey (5191) or approved equal, Logo: running							
	mustang/orange with white							
	outline /Left Chest Team Name:							
	Sachse on the back in white with orange outline front number: 4"							
47	back number 6'in white with		_		BARCELONA	40	640.44	****
17	orange outline	Yes	=	Α	SPORTING GOODS  AMERICA TEAM	16	\$42.14	\$674.24
		No	E	Α	SPORTS	16	\$42.45	\$679.20
1		No		Α	TEAM LEADER	16	\$44.50	\$712.00
					VARSITY BRANDS			
		No	E	Α	HOLDINGS CO INC	16	\$48.60	\$777.60
	Mizuno Flex ½ zip Top #440580 or							
	approved equal, Heather royal blue & diva blue 5L5S with gold				VARSITY BRANDS			
18	interlocking LC'front corner	Yes	E	Α	HOLDINGS CO INC	15	\$34.60	\$519.00
		No	-	ΞA	BARCELONA SPORTING GOODS	15	\$39.89	\$598.35
		No			AMERICA TEAM	10		
-		No	E	Α	SPORTS	15	\$40.15	\$602.25
L	<u>                                       </u>	No	E	Α	TEAM LEADER	15	\$49.50	\$742.50
	Mizuno Wave Hurricane Women's							
	Shoes or approved equal, black/silver, sizes to follow when				BARCELONA			
19	order	Yes	Р	PR	SPORTING GOODS  AMERICA TEAM	7	\$56.95	\$398.65
		No	P	PR	SPORTS	7	\$57.50	\$402.50
		No	P	PR	TEAM LEADER	7	\$68.00	\$476.00
					PYRAMID SCHOOL			
		No	Р	PR	PRODUCTS	7	\$69.00	\$483.00
	Augusta Ladies Pulse Team Shorts #1265 or approved equal,				AMERICA TEAM			
20	navy/white/black	Yes	P	PR	SPORTS	18	\$11.05	\$198.90
		-			PARCEL ON A			
		No	P	PR	BARCELONA SPORTING GOODS	18	\$11.88	\$213.84
		No	P	PR	VARSITY BRANDS HOLDINGS CO INC	18	\$12.53	\$225.54
		-			KNOCKOUT			,
		No	P	PR	SPORTSWEAR.COM LLC	18	\$15.00	\$270.00
							,	,
		No		PR	TEAM LEADER	18	\$16.50	\$297.00
	Badger Ladies Core Tee Black	IVU			AIII EEADEN	.0	ψ10.30	Ψ231.00
	with white block lettering outlined in gold LADY OWL'with a							
	volleyball ∜OLLEYBALL'or				AMERICA TEAM			
21	approved equal	Yes		A	SPORTS	20	\$9.15	\$183.00
					VARSITY BRANDS			
<u> </u>		No	E	Α	HOLDINGS CO INC	20	\$9.60	\$192.00
					BARCELONA			
-		No	E	A	SPORTING GOODS KNOCKOUT	20	\$9.69	\$193.80
1					SPORTSWEAR.COM			
Щ.		No	E	Α	LLC	20	\$11.28	\$225.60

	Badger Ladies Core Tee graphite with black block lettering outlined						
	in gold GARLAND'With a volleyball VOLLEYBALL'STAY						
22	STRONG'across shoulders on back	Yes	EA	VARSITY BRANDS HOLDINGS CO INC	20	\$9.60	\$192.00
				KNOCKOUT SPORTSWEAR.COM			
		No	EA	LLC	20	\$11.28	\$225.60
				AMERICA TEAM			
		No	EA	SPORTS	20	\$12.25	\$245.00
				BARCELONA			
	Badger Ladies Core Tee white	No	EA	SPORTING GOODS	20	\$12.92	\$258.40
	with black block lettering outlined in gold GARLAND'with a black			AMERICA TEAM			
23	volleyball	Yes	EA	SPORTS	20	\$9.15	\$183.00
				VARSITY BRANDS			
		No	EA	HOLDINGS CO INC	20	\$9.60	\$192.00
				KNOCKOUT			
				SPORTSWEAR.COM		***	4005.00
		No	EA	LLC	20	\$11.28	\$225.60
				BARCELONA			
		No	 EA	SPORTING GOODS	20	\$4,160.00	\$83,200.00
	Badger B-Core Tee #4120 or approved equal, Black with royal						
	lettering outlined in gold LAKEVIEW VOLLEYBALL'or			BARCELONA			
24	approved equal	Yes	EA	SPORTING GOODS	50	\$8.89	\$444.50
		No	EA	AMERICA TEAM SPORTS	50	\$9.35	\$467.50
				VARSITY BRANDS		***	4400 50
		No	EA	HOLDINGS CO INC	50	\$9.65	\$482.50
				KNOCKOUT			
		No	EA	SPORTSWEAR.COM LLC	50	\$11.28	\$564.00
	Badger Men's Core Tee #4120 or						
0.5	approved equal, Lime with royal			BARCELONA	50	<b>*</b> 0.00	****
25	lettering outlined in white 3"LCVB"	Yes	EA	SPORTING GOODS	50	\$8.89	\$444.50
		No	EA	AMERICA TEAM SPORTS	50	\$9.35	\$467.50
						,	,
		No	EA	VARSITY BRANDS HOLDINGS CO INC	50	\$9.65	\$482.50
		.10				ψυ.55	Ş-02.00
				KNOCKOUT SPORTSWEAR.COM			
		No	 EA	LLC	50	\$11.28	\$564.00
	Badger Blend Long Sleeve Tee #4194 or approved equal, black						
26	blend with red embroidered NG"	Yes	EA	VARSITY BRANDS HOLDINGS CO INC	1	\$20.10	\$20.10
	on right onest	res	LA	NOLDINGO GO ING		Ψ20.10	Ψ <b>2</b> 0.10
				BARCELONA			
-		No	EA	SPORTING GOODS	1	\$21.00	\$21.00
				KNOCKOUT			
		No	EA	SPORTSWEAR.COM LLC	1	\$21.97	\$21.97
	Badger Ladies ¼ Zip Pullover			·			
	#4193 or approved equal, black blend with red embroidered NG"			AMERICA TEAM			
27	on right chest	Yes	EA	SPORTS	18	\$21.65	\$389.70
				VARSITY BRANDS			
-		No	EA	HOLDINGS CO INC	18	\$23.65	\$425.70
				BARCELONA		****	<b>*</b> * * * * * * * * * * * * * * * * * *
<u></u>		No	EA	SPORTING GOODS	18	\$24.39	\$439.02

				киоскоит			
				SPORTSWEAR.COM			
		No	EA	LLC	18	\$26.85	\$483.30
	Badger Ladies Blend ¼ Zip #4193						
28	or approved equal royal/blend with gold interlocking LC"	Ves	EA	BARCELONA SPORTING GOODS	3	\$24.39	\$73.17
20	with gold interlocking EC	Yes	LA	SPORTING GOODS	,	<b>424.39</b>	φ/3.17
				VARSITY BRANDS			
		No	EA	HOLDINGS CO INC	3	\$25.85	\$77.55
				KNOCKOUT		,	•
				SPORTSWEAR.COM			
		No	EA	LLC	3	\$26.91	\$80.73
	Badger Tonal Sport Heather Tee						
	#4343 or approved equal, red heather/red with black			VARSITY BRANDS			
29	embroidered NG"	Yes	EA	HOLDINGS CO INC	4	\$16.50	\$66.00
				BARCELONA			
		No	EA	SPORTING GOODS	4	\$18.50	\$74.00
				KNOCKOUT			
				SPORTSWEAR.COM			
		No	EA	LLC	4	\$19.10	\$76.40
	Senoh Volleyball Net #HM50 or						
30	approved equal	Yes	EA	SPORTS IMPORTS	2	\$409.00	\$818.00
				VARSITY BRANDS			
		No	EA	HOLDINGS CO INC	2	\$499.98	\$999.96
				BARCELONA			
		No	EA	SPORTING GOODS	2	\$545.00	\$1,090.00
	Senoh Volleyball Antennae #NA2		-			A101.00	****
31	or approved equal	Yes	PR	SPORTS IMPORTS	2	\$131.00	\$262.00
				BARCELONA			
	Canal Bala Cafety Bada Ctyles	No	PR	SPORTING GOODS	2	\$171.00	\$342.00
	Senoh Pole Safety Pads Style: FP1 with lettering or approved						
32	equal	Yes	EA	SPORTS IMPORTS	2	\$459.00	\$918.00
				BARCELONA			
		No	EA	SPORTING GOODS	2	\$798.00	\$1,596.00
					_	Ų. COLOG	<b>\$1,000</b>
	Senoh Volleyball System SI-1						
	Revolutionary Carbon Upright						
	HDNR-B Black Heavy Duty Net Ratchet & Crank Handle Tightens						
	Net) for SI-1, floor plates HM50						
	Competition Technora Volleyball						
	Net complete with Side Ties,						
	Velcro Side Straps, Dowel Rods,						
	Net Locks and Net Lock Covers						
	NA2 Volleyball Net Antennas						
	(Pair) 1 FP11 Tapered Safety Pad with Custom Lettering (Per Pad)						
	DE73 International Official Stand						
	(w/wheels & adjustable legs)						
	OSP3 Official Stand Padding						
33	(specify color) or approved equal	Yes	SET	SPORTS IMPORTS	3	\$7,426.00	\$22,278.00
			 		1		
				BARCELONA	_		A
		No	SET	SPORTING GOODS	3	\$9,232.00	\$27,696.00
2.4	Nike Streak Knee Pads #NVP05-		DD.	BARCELONA SPORTING GOODS	24	\$40.00	\$523.59
34	001 or approved equal, black	Yes	PR	SPORTING GOODS	31	\$16.89	<b>\$</b> 3∠3.59
				VARSITY BRANDS			
L		No	PR	HOLDINGS CO INC	31	\$20.83	\$645.73
_							

	Nilsa Digital Vanca Elita Laura						
	Nike Digital Vapor Elite Long Sleeve Jersey #846313 -body – anthracite swoosh team bright						
	gold Upper sleeve stripe and back						
	collar -black Lower sleeve stripe team bright gold Left/right collar						
	stripe team bright gold Single letter text Packer G'team bright						
	gold Front number 4'team bright gold Back 6'humber bright gold						
	left sleeve straight name OWLS" Team bright gold or approved			VARSITY BRANDS			
35	equal	Yes	EA	HOLDINGS CO INC	17	\$70.17	\$1,192.89
				BARCELONA			
		No	EA	SPORTING GOODS	17	\$78.49	\$1,334.33
	Nike Digital Vapor Elite Long						
	Sleeve Jersey #UD58fa2711C9c8f Body -team Dark green Swoosh						
	NCAA team orange Upper sleeve stripe and back collar team Kelly						
	green Lower sleeve stripe & left collar strip team orange Two						
	color number front -team name & number on back two color or			VARSITY BRANDS			
36	approved equal	Yes	EA	HOLDINGS CO INC	20	\$70.17	\$1,403.40
				BARCELONA			
	Nike Women's Digital Speed Strike	No	EA	SPORTING GOODS	20	\$78.49	\$1,569.80
	Short Sleeve Volleyball Jersey Body +team orange with swoosh &						
	shoulder Upper sleeve stripe team dark green Middle Sleeve						
	Stripe- Dark Green Lower Sleeve Stripe -Team Kelly Green Front						
	Name-Vertical Arch Name- NAAMAN- dark green with Kelly						
37	green accent numbers front & back or approved equal	Yes	EA	VARSITY BRANDS HOLDINGS CO INC	20	\$54.20	\$1,084.00
				BARCELONA			
	Nike Women's Epic Jacket	No	EA	SPORTING GOODS	20	\$78.94	\$1,578.80
38	#836119 or approved equal, anthracite/black/white	Yes	EA	VARSITY BRANDS HOLDINGS CO INC	1	\$30.93	\$30.93
				BARCELONA			
	Nike Women's Epic Pant #836120	No	EA	SPORTING GOODS	1	\$32.00	\$32.00
39	or approved equal, anthracite/black/white	Yes	PR	VARSITY BRANDS HOLDINGS CO INC	1	\$25.30	\$25.30
				BARCELONA			
		No	PR	SPORTING GOODS	1	\$26.50	\$26.50
	Nike Spandex Shorts, 4'Inseam -			BARCELONA		*****	******
40	black #108720 or approved equal	Yes	PR	SPORTING GOODS	13	\$15.94	\$207.22
		No	PR	VARSITY BRANDS HOLDINGS CO INC	12	\$16.88	\$219.44
	Nike Women's Performance Game	No	rĸ	INCEDINGS CO INC	13	\$10.08	<b>⊉</b> 219.44
41	Short #108720 or approved equal, black	Yes	PR	BARCELONA SPORTING GOODS	30	\$15.94	\$478.20
				VARSITY BRANDS			
		No	PR	HOLDINGS CO INC	30	\$16.88	\$506.40
	Nike Half Cushioned Crew Socks #NKSX4827 or approved equal,-			VARSITY BRANDS			
42	black (3 pair pack)	Yes	PK	HOLDINGS CO INC	6	\$9.84	\$59.04
				BARCELONA			
<u> </u>		No	PK	SPORTING GOODS	6	\$10.45	\$62.70

	Nike Women's Air Zoom 34 Pegasus Shoe #887017 or						
43	approved equal, sizes to follow when order is placed	Yes	PR	VARSITY BRANDS HOLDINGS CO INC	3	\$64.90	\$194.70
				BARCELONA			
		No	PR	SPORTING GOODS	3	\$68.75	\$206.25
	Nike Womens Air Zoom 33 Shoe Dark gray/white/black #831356-			V. DOITV DD 111D0			
44	002 or approved equal, sizes to follow when order is placed	Yes	PR	VARSITY BRANDS HOLDINGS CO INC	1	\$64.90	\$64.90
		No	PR	BARCELONA SPORTING GOODS	1	\$68.75	\$68.75
	Nike Men's Air Zoom 33 Shoe #1352002 or approved equal,	140				<b>\$50.1.0</b>	\$ con c
45	dark grey/white/black sizes to follow when order is placed	Yes	PR	VARSITY BRANDS HOLDINGS CO INC	2	\$64.90	\$129.80
				BARCELONA			
		No	PR	SPORTING GOODS	2	\$68.75	\$137.50
	Nike Air Zoom Hyperace Womens Shoes #NK902367 or approved						
46	equal,-black/white sizes to follow when order is placed	Yes	PR	VARSITY BRANDS HOLDINGS CO INC	13	\$68.56	\$891.28
				BARCELONA			
		No	PR	SPORTING GOODS	13	\$73.80	\$959.40
	Nike Women's Hyperspike Volleyball Shoe charcoal/white,						
47	sizes to follow when order is placed or approved equal	Yes	PR	VARSITY BRANDS HOLDINGS CO INC	15	\$68.56	\$1,028.40
				BARCELONA			
	Nike Women's Team Gameday	No	PR	SPORTING GOODS	15	\$73.80	\$1,107.00
	Polo #658063 or approved equal, sizes to follow when order is			BARCELONA			
48	placed	Yes	EA	SPORTING GOODS	6	\$22.57	\$135.42
		No	EA	VARSITY BRANDS HOLDINGS CO INC	6	\$28.50	\$171.00
	Nike Women's Team Gameday Polo Long Sleeve #728202 or						
49	approved equal-royal/white Sizes to follow when order is placed	Yes	EA	BARCELONA SPORTING GOODS	3	\$25.50	\$76.50
		No	EA	VARSITY BRANDS HOLDINGS CO INC	3	\$28.50	\$85.50
	Nike Women's Game Day Polo #NK658063 or approved equal, Black with red interlocking NG"						
50	outlined in white, sizes to follow when order is placed	Yes	EA	VARSITY BRANDS HOLDINGS CO INC	3	\$28.50	\$85.50
	Nike Women's Game Day Polo	No	EA	BARCELONA SPORTING GOODS	3	\$31.89	\$95.67
	#NK658063 or approved equal, White with dark green						
	interlocking NF'outlined in orange, sizes to follow when			VARSITY BRANDS			
51	order is placed	Yes	EA	HOLDINGS CO INC	2	\$28.50	\$57.00
				BARCELONA SPORTING COORS		604.00	600.70
	Nike Women's Game Day Polo #NK658063 or approved equal, 1	No	EA	SPORTING GOODS	2	\$31.89	\$63.78
	royal/white 1 scarlet/white sizes to follow when order is			BARCELONA			
52	placed	Yes	EA	SPORTING GOODS	2	\$22.57	\$45.14
		No	EA	VARSITY BRANDS HOLDINGS CO INC	2	\$28.50	\$57.00

	Nike Men's Game Day Polo #NK658085 or approved equal,						
	White with dark green interlocking NF'outlined in						
53	orange, sizes to follow when order is placed	Yes	EA	VARSITY BRANDS HOLDINGS CO INC	2	\$28.50	\$57.00
	Nike Men's Game Day Polo	No	EA	BARCELONA SPORTING GOODS	2	\$31.89	\$63.78
54	#NK658085 or approved equal, Black with red interlocking NG" outlined in white sizes to follow when order is placed	Yes	EA	VARSITY BRANDS HOLDINGS CO INC	2	\$28.50	\$57.00
		No	EA	BARCELONA SPORTING GOODS	2	\$31.89	\$63.78
55	Nike Men's Game Day Polo #NK658085 or approved equal, 2 royal/white 2 scarlet/white Sizes to follow when order is placed		EA	BARCELONA SPORTING GOODS	4	\$22.57	\$90.28
33	piaceu	<b>Yes</b> No	EA	VARSITY BRANDS HOLDINGS CO INC	4	\$28.50	\$90.28 \$114.00
56	Nike Women's Legend SLS Tee #453181 or approved equal, Sizes to follow when order is placed	Yes	EA	BARCELONA SPORTING GOODS	6	\$14.89	\$89.34
	Nike Brasilia x-large Backpacks Grey with forest green NF"	No	EA	VARSITY BRANDS HOLDINGS CO INC	6	\$15.75	\$94.50
57	outlined in white or approved equal	Yes	EA	BARCELONA SPORTING GOODS	20	\$35.89	\$717.80
		No	EA	VARSITY BRANDS HOLDINGS CO INC	20	\$38.43	\$768.60
58	Indoor Tabletop Scoreboard #SK2229R or approved equal	Yes	EA	SCHOOL SPECIALTY	1	\$280.09	\$280.09
		No	 EA	VARSITY BRANDS HOLDINGS CO INC	1	\$299.98	\$299.98
		No	EA	PYRAMID SCHOOL PRODUCTS	1	\$325.00	\$325.00
		No	EA	S AND S WORLDWIDE	1	\$352.53	\$352.53
		No	 EA	AMERICA TEAM SPORTS	1	\$390.00	\$390.00
		No	EA	BARCELONA SPORTING GOODS	1	\$499.00	\$499.00
59	Agility Ladder #1248548 or approved equal	Yes	EA	SCHOOL SPECIALTY INC	3	\$12.75	\$38.25
		No	EA	VARSITY BRANDS HOLDINGS CO INC	3	\$20.98	\$62.94
		No	EA	AMERICA TEAM SPORTS	3	\$25.55	\$76.65
		No	EA	BARCELONA SPORTING GOODS	3	\$44.90	\$134.70
		No	EA	S AND S WORLDWIDE	3	\$67.39	\$202.17
60	Licorice Jump Ropes #17208XXX			S AND S WORLDWIDE			
60	or approved equal, Plastic - 8, red	No	EA	PYRAMID SCHOOL	40	\$0.99	\$39.60
		No	EA	PRODUCTS	40	\$1.05	\$42.00
		Yes	EA	SCHOOL SPECIALTY	40	\$1.45	\$58.00
		No	EA	BARCELONA SPORTING GOODS	40	\$1.98	\$79.20

		No	E	ΕA	VARSITY BRANDS HOLDINGS CO INC	40	\$2.43	\$97.20
61	Volleyball Spike IT #TS612 or approved equal	Yes	E	EΑ	VARSITY BRANDS HOLDINGS CO INC	1	\$74.98	\$74.98
		No	E	EΑ	S AND S WORLDWIDE	1	\$199.29	\$199.29
		No	_	EΑ	AMERICA TEAM SPORTS	1	\$225.00	\$225.00
		NO			BARCELONA	'	\$223.00	φ223.00
		No	E	EΑ	SPORTING GOODS	1	\$280.00	\$280.00
62	Volleyball Antenna #VBANT or approved equal	Yes	P	PR	VARSITY BRANDS HOLDINGS CO INC	1	\$18.98	\$18.98
		No	P	PR	SCHOOL SPECIALTY	1	\$49.32	\$49.32
					PYRAMID SCHOOL		·	
		No	P	PR	PRODUCTS  AMERICA TEAM	1	\$50.00	\$50.00
		No	P	PR	SPORTS	1	\$65.00	\$65.00
		No	Р	PR	BARCELONA SPORTING GOODS	1	\$75.00	\$75.00
		No	P	PR	SPORTS IMPORTS	1	\$131.00	\$131.00
63	Adidas 5 in KN Kneepads #S98578 or approved equal, white/black	Yes	P	PR	AMERICA TEAM SPORTS	18	\$12.65	\$227.70
03	WilterStack				BARCELONA		•	
		No	P	PR	SPORTING GOODS	18	\$16.98	\$305.64
64	Adidas Tech Fit 4'Short #CD9595 or approved equal, navy	Yes	P	PR	BARCELONA SPORTING GOODS	23	\$13.28	\$305.44
		No	P	PR	AMERICA TEAM SPORTS	23	\$15.05	\$346.15
65	Adidas Practice Short #9617 or approved equal, lead LDW	Yes	P	PR	AMERICA TEAM SPORTS	2	\$15.00	\$30.00
					BARCELONA	2		¢05.70
	Adidas Utility 3 pocket short	No	P	PR	SPORTING GOODS  AMERICA TEAM	2	\$17.89	\$35.78
66	#725P or approved equal	Yes	P	PR	SPORTS	6	\$21.25	\$127.50
		No	P	PR	BARCELONA SPORTING GOODS	6	\$22.89	\$137.34
67	Adidas Women's Tiro 17 Training Pant #BK0350 or approved equal	Yes	P	PR	AMERICA TEAM SPORTS	20	\$22.65	\$453.00
				PR	BARCELONA SPORTING GOODS	20	\$23.89	£477.00
	Adidas Striker II	No		K	SPORTING GOODS	20	\$23.09	\$477.80
	Backpack#5142723 or approved equal, Coll Navy/Black/White with							
	embroidered orange Running mustang with white Sachse'above							
68	and white ∜olleyball"or approved equal	Yes	E	EΑ	AMERICA TEAM SPORTS	18	\$31.95	\$575.10
		No	_	EΑ	BARCELONA SPORTING GOODS	18	\$33.89	\$610.02
	Adidas Stadium Team Backpack #5136891 or approved equal,	No		_^	OI OIVIING GOODS	10	<b>\$33.09</b>	<b>ф</b> 010.02
69	black with three color Rowlett Logo	Yes	E	EΑ	AMERICA TEAM SPORTS	17	\$39.45	\$670.65
		No	  -	EΑ	BARCELONA SPORTING GOODS	17	\$42.39	\$720.63
	Adidas Women's Select Polo #1892 or approved equal,	INU			J. 31(11110 00000	.,	ψ-2.33	ψ1 20.03
	collegiate navy with white running mustang outlined in orange, x-				AMERICA TEAM			
70	large	Yes	E	EΑ	SPORTS	1	\$25.00	\$25.00

			•				
		No	EA	BARCELONA SPORTING GOODS	1	\$32.50	\$32.50
	Adidas Select Polo #1893 or					,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	402.00
	approved equal, white with navy			AMERICA TEAM			
71	running mustang with navy outline, large	Yes	EA	AMERICA TEAM SPORTS	2	\$25.00	\$50.00
				BARCELONA			
	Adidas Modern Varsity Long	No	EA	SPORTING GOODS	2	\$32.50	\$65.00
	Sleeve ¼ Zip Top #6702 or						
	approved equal, maroon/white						
72	with ROWLETT VOLLEYBALL'on left chest	Vee	EA	AMERICA TEAM SPORTS	20	\$37.15	\$743.00
12	left chest	Yes	LA	3FORT3	20	\$37.13	φ/45.00
				BARCELONA			
		No	EA	SPORTING GOODS	20	\$39.25	\$785.00
	Adidas Short Sleeve Logo Tee						
	#3720 or approved equal, Maroon						
	with white volleyball (shape) in						
	background Rowlett'through the volleyball -white lettering in grey						
	Eagles'in smaller font underneath			BARCELONA			
73	white lettering outlined in grey	Yes	EA	SPORTING GOODS	60	\$8.42	\$505.20
		No	EA	AMERICA TEAM SPORTS	60	\$8.65	\$519.00
		INU	LA	3FORT3	00	\$6.05	φ519.00
	Adidas miVolleyball 17 uniform W						
	Long Sleeve, Sublimated: SUNSET Base, sleeves, side						
	panel, sleeve insert: Clear Onix						
	Collar, logo: White ROWLETT"						
	upper back, font: Half Block						
	Color: MAROON, outline: Onix Back number: 5.9 inch, Maroon,						
	outline: Onix, font: Half Block						
	Front number: 3.9 inch, Maroon,						
	outline: Onix, font: Half Block Rowlett logo on left chest or			AMERICA TEAM			
74	approved equal	Yes	EA	SPORTS	17	\$39.55	\$672.35
	Adidas miVolleyball 17 uniform W Long Sleeve, Sublimated:						
	SUNSET Base, sleeves, side						
	panel, sleeve insert: Clear Onix						
	Collar, logo: White ROWLETT" upper back, font: Half Block						
	Color: MAROON, outline: Onix						
	Back number: 5.9 inch, Maroon,						
	outline: Onix, font: Half Block						
	Front number: 3.9 inch, Maroon, outline: Onix, font: Half Block						
	Rowlett logo on left chest or			BARCELONA			
74	approved equal	Yes	EA	SPORTING GOODS	17	\$53.00	\$901.00
	Adidas miVolleyball 17 uniform W						
	Long Sleeve, Sublimated:						
	SUNSET Base, sleeves, side						
	panel, sleeve insert: Maroon Collar, logo: White ROWLETT"						
	upper back, font: Half block						
	Color: White, outline: Clear Onix						
	Back number: 5.9 inch, Black, outline: Clear Onix font: Half						
	block - Front number: 3.9 inch,						
	Black Outline: Clear Onix, font:						
75	Half Block Rowlett logo on left chest ro approved equal	Vac	EA	AMERICA TEAM SPORTS	17	\$39.55	\$672.35
73	chest to approved equal	Yes	EA	OF ORTS		429.00	φυ/ 2.33

	Adidas miVolleyball 17 uniform W Long Sleeve, Sublimated: SUNSET Base, sleeves, side panel, sleeve insert: Maroon Collar, logo: White ROWLETT" upper back, font: Half block Color: White, outline: Clear Onix Back number: 5.9 inch, Black, outline: Clear Onix font: Half block - Front number: 3.9 inch, Black Outline: Clear Onix, font:						
75	Half Block Rowlett logo on left chest ro approved equal Adidas Custom Sublimated Jersey #\$98569 or approved	Yes	EA	BARCELONA SPORTING GOODS	17	\$53.00	\$901.00
76	equal, With three color lettering and numbers	Yes	EA	AMERICA TEAM SPORTS	18	\$39.00	\$702.00
		No	EA	BARCELONA SPORTING GOODS	18	\$53.00	\$954.00
77	Big Red Volleyball Scorebooks or approved equal	Yes	EA	VARSITY BRANDS HOLDINGS CO INC	53	\$3.23	\$171.19
		No	EA	BARCELONA SPORTING GOODS	53	\$4.19	\$222.07
		No	EA	AMERICA TEAM SPORTS	53	\$4.50	\$238.50
78	2018-19 Volleyball Rule Books or approved equal	Yes	EA	AMERICA TEAM SPORTS	20	\$11.90	\$238.00
, 0	арр. от	No	EA	BARCELONA SPORTING GOODS	20	\$12.90	\$258.00
		No	EA	VARSITY BRANDS HOLDINGS CO INC	20	\$15.98	\$319.60
70	SKLZ Mini Bands #1369655 or approved equal	Yes	EA	VARSITY BRANDS HOLDINGS CO INC	5	\$14.98	\$74.90
75	approved equal	No	EA	BARCELONA SPORTING GOODS	5	\$19.95	\$99.75
	Sport-Tek Contender Tee #ST360 or approved equal 3.8 oz., 100% polyester jersey, set-in sleeves Graphite Heather Sachse "navy outlined in white With a running mustang -navy with white and						
80	orange outline Volleyball"-white outlined in navy	Yes	EA	GRAPHICS STORE LLC	32	\$7.95	\$254.40
		No	EA	BARCELONA SPORTING GOODS	32	\$9.64	\$308.48
		No	EA	AMERICA TEAM SPORTS	32	\$10.45	\$334.40
			<b>-</b> ^	VARSITY BRANDS	20	\$40.0F	\$3E0.40
		No	EA	HOLDINGS CO INC	32	\$10.95	\$350.40
	Sport-Tek Posi Charge	No	EA	TEAM LEADER	32	\$15.50	\$496.00
	Competitor Tee #ST350LS or approved equal, -Long Sleeve - White with navy block S'with running Mustang orange outline			AMERICA TEAM			
81	running Mustang orange outline VOLLEYBALL"	Yes	 EA	AMERICA TEAM SPORTS	21	\$9.55	\$200.55
		No	EA	BARCELONA SPORTING GOODS	21	\$9.94	\$208.74
		No	EA	VARSITY BRANDS HOLDINGS CO INC	21	\$11.80	\$247.80
		No	EA	GRAPHICS STORE LLC	21	\$12.45	\$261.45
		No	EA	TEAM LEADER	21	\$15.50	\$325.50

	Sport-Tek Posi Charge Competitor Tee #ST350 or approved equal -Short Sleeve – True Navy with white block S'with orange running mustang Mustang orange outline on the S'and white outline On the running mustang			BARCELONA			
82	♥OLLEYBALL"	Yes	EA	SPORTING GOODS	75	\$7.66	\$574.50
		No	EA	AMERICA TEAM SPORTS	75	\$8.15	\$611.25
		No	EA	GRAPHICS STORE LLC	75	\$9.95	\$746.25
		No	EA	TEAM LEADER	75	\$13.50	\$1,012.50
		No	EA	VARSITY BRANDS HOLDINGS CO INC	75	\$18.20	\$1,365.00
	Sport-Tek Ladies Posi Charge Competitor Racer back Tank #LST356 or approved equal, iron			VARSITY BRANDS			
83	grey with white Sachse'∜olleyball"	Yes	EA	HOLDINGS CO INC	30	\$7.50	\$225.00
		No	EA	SPORTS BARCELONA	30	\$7.65	\$229.50
		No	EA	SPORTING GOODS	30	\$7.94	\$238.20
		No	EA	GRAPHICS STORE LLC	30	\$10.95	\$328.50
84	Powermate LLC Volleyball Hitting Box or approved equal GTM Action Shorts #8203BL or	Yes	EA	BARCELONA SPORTING GOODS	1	\$750.00	\$750.00
85	approved equal, red/white "SG Volleyball" in royal - bottom right leg	Yes	PR	BARCELONA SPORTING GOODS	30	\$15.00	\$450.00
86	GTM short sleeve performance tee #2601TU or approved equal-gray - ROWLETT'across front 3' from collarmaroon lettering outlined in white EAGLES" underneath, same font, same size maroon lettering outlined in white VOLLEYBALL'underneath, same font, smaller size white lettering outlined in maroon Rowlett eagle in the middle of ROWLETT EAGLES"	Yes	EA	BARCELONA SPORTING GOODS	60	\$7.40	\$444.00
87	All Volleyball Cable Padding #BL26631 or approved equal	NB			1	NB	NB
88	Excel #A25-785 or approved equal Spike It Volleyball Training Aid with base	Yes	EA	AMERICA TEAM SPORTS	1	\$225.00	\$225.00
		No	EA	BARCELONA SPORTING GOODS	1	\$280.00	\$280.00
89	Rainbow #93-063 or approved equal, Stay N Play Spots	Yes	EA	SCHOOL SPECIALTY	2	\$8.49	\$16.98
		No	EA	THE PROPHET CORP	2	\$19.47	\$38.94
90	Power Jump #POWRJM2X or approved equal, Deluxe PowerJumper 2 Vertical Jump Elastic Resistance	NB			2	NB	NB
91	Tandem #A25-742 or approved equal, Volleyball Block Blaster	Yes	EA	BARCELONA SPORTING GOODS	1	\$160.00	\$160.00
		No	EA	AMERICA TEAM SPORTS	1	\$175.00	\$175.00

	Tandem #1238792 or approved			SCHOOL SPECIALTY			
92	equal, Pass Rite Training Tool	Yes	EA	INC	3	\$15.01	\$45.03
				VARSITY BRANDS			
		No	EA	HOLDINGS CO INC	3	\$19.97	\$59.91
				BARCELONA			
		No	EA	SPORTING GOODS	3	\$24.00	\$72.00
				AMERICA TEAM			
		No	EA	SPORTS	3	\$28.50	\$85.50
	Gildan #8000 or approved equal,						
	t-shirts Front SOUTH GARLAND"						
	red outlined in royal COLONELS"						
	in red with volleyball net &						
	volleyball in background Back -						
	RESPECT'ALL'FEAR'NONE'with						
	volleyball FIGHT'ONUNTIL'THE						
	GAME'IS WON'Red words with						
	white & royal outline Royal blue						
	words outline red & white Blue &						
	red volleyball - contact for sample						
	sizes to follow when order is			BARCELONA			
93	placed	Yes	EA	SPORTING GOODS	75	\$6.75	\$506.25
		No	EA	TEAM LEADER	75	\$8.50	\$637.50
				AMERICA TEAM			
		No	EA	SPORTS	75	\$10.05	\$753.75
				OD ADUUGO STODE			
			EA	GRAPHICS STORE	75	640.00	<b>\$705.00</b>
		No	EA	LLC	75	\$10.20	\$765.00
				VARSITY BRANDS			
			EA	HOLDINGS CO INC	75	\$10.60	\$795.00
	+	No	EA	HOLDINGS CO INC	/5	\$10.00	\$795.UU
				киоскоит			
				SPORTSWEAR.COM			
		No	EA	LLC	75	\$11.38	\$853.50
		No	I EA	LLU	/3	\$11.30	<b>#003.00</b>